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o V =um,29,23,24
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e y(e1) = (w1,72) (e2) = (w2,73) (e3) = (w3,71) 7(ea) = (21,24)
) —"—(
ed el e2

(3

uobooboooooobooobooboboooooobooobooooao
gboooboooobooon



uboooboooobooon 2

00 2000000 PN=(P,T,1,0)0000000000000000
000000000

e P={p,...,p,} 00000000

e T={t,...,t,} 00000000

e [:PxT—{0,1}000000000000000000

e O:TxP—{0,1} 00000000 UODOOOUOOOOO

bobooboboooboboooobooooobooboog

<IN
(%O t5
tl
pl t2
D_.QH s

P p2

t4

P = {p1,p2,p3,P4, D5}

T = {t17t27t37t4,t5}
o I(t1) =0, I(t2) = {p1,ps}, I(t3) = {pa}, I(ta) = {p2}, I(t5) = {p3}

O(t1) = {m}, O(t2) = {p2,p3}, O(t3) = {m}, O(ta) = {ps},
O(ts) = {pa}
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Cij = O(ty,pi) — I(pi, tj).
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I(pi,tj) = max(—Cij,O) O(tj,pi) = max(Cij,O)
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Z w; M (p;) = Z w; Mo (pi)
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e struct hostent* gethostbyname(const char *name);
DNS(OOUOOOOO)00o0ouUOooooooooIpPO0oUOOoOoOoOoOoO

#include <netdb.h>
/* oL %/
struct hostent *host;
host = gethostbyname ("name") ;

memcpy ( (char*)&sin.sin_addr, host->h_addr, host->h_length)
sin.sin_family = host.h_addrtype;



